Yr 9 SCIENCE    
Revision

1. List the number of electrons the following ions have gained or lost. 


K+    

lost one

O-2          
gained two


Fe+2     

lost two

Cu+2     
lost two

Al+3

lost three

Cl-        
gained one


2.  How many electrons do the following atoms and ions have?


(Hint: you can get the answer from your periodic table)

Magnesium: 

12

Chloride: 

18
Zinc: 


30

Sulfide: 

18
Potassium: 

19

Sodium ion:  

10
Oxygen: 

8

Copper (I) ion:  
28

3.  Identify an element present in the third period and sixth group. 
          

Answer: 
Sulfur 


4.  Write the balanced compound between two ions (e.g. NO3- and Ca+2 become Ca(NO3)2 . 





         
Ag+  and O-2

Ag2O
Na+  and  SO4-2 
Na2SO4 
Al+3  and CO3-2  
Al2(CO3)3 

5.  State the number of electrons, protons and neutrons for the following elements. 









    
3



  20

 
Li



Ca

  
7



  40


Electron: 
3

Electron:
20
 
Proton: 
3

Proton:
20
 
Neutron:  
4

Neutron:  
20
6.  Name the following compounds (e.g. AlCl3 = Aluminium Chloride) 

MgBr2

Magnesium bromide

KOH

Potassium hydroxide 


CuCO3
Copper carbonate

7.  Match the following terms to the appropriate terminology.

	Negative ions


	1                       a
	They form by gaining electrons.




	 Protons 


	2                       b
	These particles are negatively charged.




	Electrons 


	3                       c
	They form by losing electrons.




	Positive Ions 


	4                       d
	They do not carry a charge.




	 Neutrons 


	5                       e
	They are found inside the nucleus of an atom.




Answer: 
1 - a ,  2 - e ,   3 - b ,  4 - c  ,  5 - d

8.  How does an atom become a positive ion?

Answer:: By losing electrons.

9. How does an atom become a negative ion?

Answer: By gaining electrons

10. The space around a nucleus is known by the name: 

Answer:  electron cloud or electron shell.

11. Which of the following ions is incorrectly written?

Br- ,  NH4+2 , S-2 , Zn+ , OH+ , SO4+2 , Mg+2 , NO3-2  ,  Na+ ,  CO3-
Answer: 
NH4+2 ,  CO3- , Zn+ ,  NO3-2 , OH+ , SO4+2     

12. Write the electron configuration of the following atoms and ions. 

Potassium ion: 
2,8,8


Lithium ion:

2



Sodium: 

2,8,1


Calcium:

2,8,8,2

Oxide: 


2,8


Aluminium ion: 
2,8

13. Why atoms are known to be neutral?

Answer: Because they carry the same number of protons as electrons. The number of negative charges from electrons cancels out the number of positive charges from protons.

14.  An alpha particle that is travelling between two electrodes connected to a battery will be attracted to which electrode?

Answer:  the negative electrode because the alpha is made up of two protons which makes it positive; therefore it will be attracted to the negative terminal of the battery.  Opposite charges attract.
15.  The heaviest part of an atom is called a: 

Answer:     Nucleus 


16. What is the formula of an ionic compound that is made up of a metal with the symbol and valency of V+2 and a non-metal ion that has the symbol and valency of Z-3 

Answer:    V3Z2 

17.  Identify the following atoms from their electron shells.





X




      Y














X = 
calcium



Y =      fluorine 

18.  Write a shorthand notation for the following elements



Chlorine: 



Iodine: 




19.  Complete the table.

	Atom or Ion
	Atomic number
	Mass number
	Neutron number
	Electron number

	Li
	3
	7
	4
	3

	O2-
	8
	16
	8
	10

	Mg2+
	12
	24
	12
	10

	F
	9
	19
	10
	9

	H+
	1
	1
	0
	0


20.  Balance the following equations.

2 LiOH     +    H2SO4   


Li2 SO4       +    2  H2O 

  Al2(CO3)3   


     Al2O3   +      3 CO2    

3 Pb(OH)2     +  2 H3PO4 


Pb3(PO4)2   +    6 H2O 

21. State the type of decay that is taking place in A and B radioactive decay. 


Co

Ni

Beta decay




Ra 

Rn

Alpha decay
22. Fermium-253 is a radioactive element with a half-life of three (3) days.  That means after three days half the amount of Fermium atoms will decay.  A scientist obtained a sample of fermium and found out that it contains 10540 atoms. 

(a) How many atoms would remain after one half-life?




(10540/2 = 5270 atoms). 

(b) How many atoms would remain after 15 days?
        

(15/3= 5 half-lives = 329.4 atoms).

(c) How many half-lives have passed if only 1/16th of the amount remained?
         

4 half-lives.

23.  Match the following scientist with their correct contribution regarding the atomic model. 

Niels Bohr    John Dalton    Democritus    James Chadwick     J.J. Thomson    Ernest Rutherford

	Each atom has electrons revolving in stable orbits around its nucleus.
	Niels Bohr    

	Atoms of the same element are identical in mass. 


	John Dalton    

	Neutrons were found in the nucleus as a result of bombarding the nucleus of beryllium with alpha particles. 


	James Chadwick     

	Atoms are indivisible and there exist infinite number and kinds of atoms.


	Democritus

	Electrons jump from one orbit to the next higher up when it gains energy.


	Niels Bohr    

	When an electron jumps down from the second shell to the second it releases light energy.


	Niels Bohr    

	The gold foil experiment proved that an atom is composed of a heavy positively charged nucleus orbited by low mass electrons.
	Ernest Rutherford

	The atom is made of negatively charged electrons surrounded by a soup of a positive charge.


	J.J. Thomson    
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